Our website is www.pattayabridge.com



  Club News Sheet – No. 442
Our blogsite is www.pattayabridge.wordpress.com






My mobile phone number is 083 6066880








8th May 2011
My e-mail is terry@pattayabridge.com or pattayabridge@yahoo.com

My Windows Live Messenger is tj_quested@hotmail.com

Mon 2nd 

1st
Janne & Sigurd
63%
2nd
Ron & Jeremy
62%

Wed 4th 

1st
Alan K & Per-Ake
63%
2nd
Bob S & Ron
57%

Fri 6th 

1st
Alan K & Per-Ake
63%
2nd
= Janne & Sigurd
60%
2nd
= Tomas & Dave H
60%
Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
What do you open with Hand A?
♠ A873
♠ J7
With Hand B it’s favourable vulnerability. Partner opens 1♥ and 
♥ AKJ2
♥ 9
RHO doubles   (a) What do you do?
♦ 8
♦ QJ754
(b)
Suppose you redouble and this is passed back to RHO
♣ AKJ6
♣ AQJ65
who now bids 1♠, what do you do this time?
Hand C
Hand D
With Hand C partner opens 1♣ and you bid 1♦. Partner then
bids 1♥, what do you bid?
♠ KJ42
♠ J9874


♥ 85
♥ A2
With Hand D partner opens 1♥, you bid 1♠ and partner bids 2♦.
♦ AQ753
♦ A85
(a)
What do you bid now?

♣ 85
♣ A65
(b)
Suppose you bid 3♣ 4th suit and partner bids 3♦, what now?
Bidding Sequence Quiz

E
1♥
pass
1♠
pass

 

2♦
pass
3♠


Is the jump to 3♠ forcing?
F
1♥
pass
1♠
pass

 


2♦
pass
3♣
pass


3♣ is 4th suit forcing…

3♦
pass
3♠


… is 3♠ forcing?
Open 2NT with a small singleton?


Board 19 from Monday 2nd May
Dealer:
♠ KJ42



Table A
South
♥ 85

West

North(C)
East

South(A)
E-W vul 
♦ AQ753

-

-

-

1♣
(1)

♣ 85


pass

1♦

pass

1♥
(2)
pass


1NT
(3)
pass

3NT
♠ 9

N
♠ Q1065

all pass
♥ Q10763
W
E
♥ 94


♦ K1092
S

♦ J64

Possible Bidding
♣ 1043


♣ Q972


West
North
East

South(A)

♠ A873


-


-

-

2NT
(1)
♥ AKJ2




pass

3♣

pass

3♥
♦ 8



pass


3NT

pass

4♠
(4)
♣ AKJ6




all pass
Table A:
(1)
What did you open with this South hand A in this week’s quiz? This 1♣ was the popular choice, but it does stand the chance of being passed out when there is a game on. 

(2)
And opener again has a problem here, 2♥ is not usually played as forcing and 3♥ is a distortion of the shape in my opinion.

(3)
What did you bid with this North hand C in this week’s quiz? I know that one player chose 1NT rather than 1♠ because he wanted a ♠ lead against an eventual NT contract, but I would not deny the 4-card major and would bid 1♠ (natural and forcing).

possible:
(1)
This is the easy route to the best contract, and makes subsequent bidding easy. Unlike 1NT, you are allowed to open 2NT with any singleton (and this hand type is the reason why). The singleton ♦ really is no problem, if partner does not have ♦’s then he is very likely to bid Stayman or transfer.

(4)
Partner’s 3♣ Stayman bid guaranteed a 4-card major, so he must have four ♠’s.
And what happened? Only three out of six found the 4-4 ♠ fit, which is the superior contract despite the adverse 4-1 split.
The bottom lines:
· You are allowed to open 2NT with any singleton, this would normally be any 4441 type shape where there is a risk of being passed out and subsequent bidding is also difficult.
· Do not deny a 4-card major.

Bidding after 4th suit forcing



Board 14 from Wednesday 4th May

People play 4th suit forcing in different ways. I personally think it’s easiest to play it as game forcing as that makes subsequent bidding so much easier.

Dealer:
♠ J9874



Table A
East
♥ A2

West

North(D)
East

South
Love all  
♦ A85

-

-

pass

1♥

♣ A65


pass

1♠

pass

2♦
pass


3♣
(1)
pass

3♦
(2)
♠532

N
♠ Q106

pass


5♦
(3)
all pass
♥ Q3
W
E
♥ J876


♦ J1042
S

♦ 7

Table B
♣ J843


♣ KQ1092


West
North(D)
East

South


♠ AK


-


-

pass

1♥
♥ K10954




pass

1♠

pass

2♦
♦ KQ963


pass


3♣
(1)
pass

3♦
(2)
♣ 7




pass

3♠
(3)
pass

4♠
(4)
all pass
Table A:
(1)
What did you bid with this North hand D(a) in this week’s quiz? 3NT was the popular choice, but with just one ♣ stop this 3♣ 4th suit forcing bid is a far superior bid. 


(2)
Denying a ♦ stop and showing five ♦’s in addition to the five ♥’s already promised.
(3)
What did you bid with this North hand D(b) in this week’s quiz? Having successfully got past the last hurdle, this North failed here. There is absolutely no reason to go jumping off to the minor suit game.
Table B:
(3)
This North got question D(b) right. The auction is game forcing and so it’s clearly best to show five ♠’s. 


(4)
With the ♠AK opposite a known five card suit, South elects to go for the major suit game.
And what happened? 4♠= twice, 5♦= once and 3NT going down three times.
The bottom lines:

· After 4th suit forcing, if you play it as game forcing then both partners should simply describe their hand further.

· It is hardly ever correct to jump off to five of a minor, there may be slam or a better scoring contract.

· Unless you have nine running tricks, 3NT will not make with just one stop in the unbid suit, so use 4th suit forcing to find out more about partner’s hand and find out if he has a stop.

· 4♠= scores more than 5♦=. 

Suitable for an overcall/double?


Board 22 from Friday 6th May

A poor overcall/double got just what it deserved at two tables on this deal.

Dealer:
♠ J7



Table A
East
♥ 9

West

North(B)
East

South
E-W vul  
♦ QJ754

-

-

pass

1♥

♣ AQJ65


dbl
(1)
redbl
(2)
pass

pass

1♠


pass
(3)
pass

dbl


♠ K1094

N
♠ 863

all pass
♥ K102
W
E
♥ J753


♦ K9
S

♦ 863

Table B
♣ K1072


♣ 943


West
North
East

South


♠ AQ52


-


-

pass

1♥
♥ AQ864




1♠
(1)
dbl
(4)
pass

pass
(5)
♦ A102


pass



♣ 8






Table A:
(1)
What do you think of this double? Some people believe that they should double 1♥ when holding opening values and four ♠’s, but this is unsound, a take-out double in the direct seat needs to be playable in the other three suits. With this hand, a double of a 1♦ opening would be reasonable, but not over a 1♥ opening.

(2)
What did you bid with this North hand B(a) in this week’s quiz? Redouble here shows 9+ points and usually a mis-fit with partner’s suit.
(3)
What did you bid with this North hand B(b) in this week’s quiz? Obviously you cannot double (for penalties), but maybe partner can. This pass is forcing.
Table B:
(1)
This West found another poor bid. An overcall with a good 4-card suit is sometimes sound, but this one most certainly is not. 


(4)
Negative, showing values and both minors.
(5)
At this vulnerability, South goes for the penalty rather than a NoTrump contract.

And what happened? 1♠* went for 1100 and 800 at the two tables. At the other two tables N-S bid to a very sensible 3NT+1 but unfortunately shared the bottom.

The bottom lines:

· A take-out double in the direct seat needs to be playable in the other three suits unless very strong.

· If you really want to overcall with four-card suits, have a look at Mike Lawrence’s “Complete Book on Overcalls” to see when it is sound.

Dave’s Column
North
South
West

North
East

South

♠ AK
♠ 85
-

1NT

pass

3NT
♥ J952
♥ K83
all pass
♦ 986
♦ AK52


♣ AKQ10
♣ J863

You are North, declarer in 3NT and East leads the ♠Q. You have eight top tricks and can get another if East has the ♦A (a 50% chance) or if the ♦’s break 3-3 (a 36% chance).
Do you settle for the % play or do you see an alternative line of play.
Dave’s Column Answer




Board 13 from Wednesday 4th May
Dealer:
♠ AK



Book Bidding
North
♥ J952

West

North
East

South
both vul 
♦ 986

-


1NT

pass

3NT

♣ AKQ10


all pass

♠ 9763
N
♠ QJ1042


♥ A64
W
E
♥ Q107
 

♦ Q4
S
♦ J1073
 
♣ 9742


♣ 5
 

♠ 85



♥ K83



 East leads the ♠Q, plan the play.
♦ AK52


♣ J863
No matter how the red suits lie, North’s “percentage” play is to run the ♣’s early: the defenders may have discarding problems. On the Actual deal, East cannot afford to throw a ♦ so he must discard two high ♠’s and a ♥.
North then leads a ♥ to the ♥K and West’s ♥A, wins the ♠ return and can then force out East’s ♥Q. East can lead a low ♠ for West to take the ♠9 and ♠6 , but North has the rest and makes the game.

East would do best to discard three ♠’s (saving a low ♠) but North still makes the contract if he guesses the lay of the ♥’s correctly. 

And what happened at the Pattaya bridge club? 3NT-2 twice, 3NT-1, 3NT+1 twice and 3NT+2.
Dave’s  2nd Column



West
East
West
North
East

South

♠ K
♠ AJ73

-
-

1NT

pass

♥ 9875
♥ A62
 
2♠
pass
2♠
pass
♦ 108652
♦ AK4

3NT
all pass
♣ AK6
♣ J75


You are East, declarer in 3NT.  South leads three rounds of ♥’s and North follows twice. You win the third round with the ♥A. Plan the play from there. 
Dave’s 2nd Column Answer

Board 10 from Wednesday 4th May
Dealer:
♠ Q10954



Bidding
East
♥ 43

West

North
East

South
both vul 
♦ 97

-


-

1NT

pass

♣ 8432


2♣

pass

2♠

pass
3NT

all pass

♠ K
N
♠ AJ73

all pass

♥ 9875
W
E
♥ A62
 
♦ 108652
S
♦ AK4
South leads three rounds of ♥’s and North follows
♣ AK6


♣ J75
twice. You win the third round with the ♥A. 

♠ 862

Plan the play from here. 
♥ KQJ10

 
♦ QJ3


♣ Q109
Declarer can count seven top tricks with aces and kings. When the hand was first played declarer saw that all he needed was a 3-2 ♦ break to bring his total to nine. He got the hoped for break, but where did he go wrong?

East won the third ♥ and immediately set up dummy’s ♦’s. He cashed the ♦AK to get the good news and then conceded a ♦ to South. South cashed his high ♥ and exited safely in ♠’s to dummy’s ♠K. This left declarer stuck in dummy and South eventually scored a ♣ winner, one down. 
After East took the third ♥, should he have cashed dummy’s ♠K? But then how does he reach his hand after establishing the ♦’s? 
The solution lies in strategic timing. After East takes the ♥A, he should lead a low ♦, not an honour. South wins and cashes a ♥, but declarer is out of danger. He now has sufficient entries to take his nine tricks. 

And what happened at the Pattaya bridge club? 3NT= four times, 3NT-1 twice.
Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	1766.4 Janne Roos
1717.4 Tomas Wikman
	639.8 Per Andersson
638.4 Hans Vikman
627.6 Janne Roos
624.0 Lars Broman
622.5 Paul Quodomine
612.4 Bob Short
604.8 Paul Scully
602.2 Tomas Wikman
600.0 Sean Burgess
599.2 Jeremy Watson
	332.2 Per Andersson
326.2 Hans Vikman
321.7 Lars Broman
318.9 Janne Roos
315.4 Paul Scully
314.8 Bob Short
313.8 Paul Quodomine
312.2 Gerard Hardy
311.7 Jeremy Watson
310.9 Bengt Malmgren


Bidding Quiz Answers

Hand A:
1♣ or 2NT.  2NT with a small singleton is allowed, and I prefer it to 1♣ as you will not get passed out in 1♣ when there may be game and also all of your subsequent bidding problems are solved.
Hand B:
(a)
Redouble, showing 9-10 + points and generally shortage in partner’s suit. This redouble is often looking to penalize the doubler.
(b)
Pass. You cannot double because that is penalties. But no problem as pass here is forcing and so you clearly have values in both minors. If partner elects to double for penalties then that’s fine by you, especially at this vulnerability, and you have an obvious ♥ lead.
Hand C:
1♠, natural and forcing. Never deny a 4-card major that partner may also have. Also, partner may not have ♣’s – especially if you play a short ♣ which the majority of our club do.
Hand D:
(a)
3♣, 4th suit forcing. 3NT is a poor bid as it’s unlikely to make unless partner has a ♣ stop and you cannot bid 2♠ or 3♠ as neither is forcing.
(b)
3♠. The sequence is game forcing, so show your five ♠’s. (This is the way to make a 3♠ bid forcing – go through the 4th suit).
Bidding Sequence Quiz Answers

E
1♥
pass
1♠
pass

 


2♦
pass
3♠


3♠  here is invitational…
F
1♥
pass
1♠
pass

 


2♦
pass
3♣
pass

… because you can make 3♠ forcing by first going 

3♦
pass
3♠


through 4th suit forcing.
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